Schools Of Isolated And Distant Education (SIDE)



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Thursday 3rd December 2020 Using "ZDAG" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

Your order will be dispatched the week ending 1st January 2021, if placed on or before the Return date of Thursday 3rd December 2020.

The \$8 delivery fee found at the end of your list applies to all home delivery orders. Any orders placed after the 3rd December 2020 will only incur the standard \$8 home delivery fee.



Your Campion Store 751 Marshall Road, MALAGA WA 6090 Contact Us 08 62402778 wasales@campion.com.au

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
P19828	ACCOUNTING & FINANCE ATAR WA ATAR Accounting 3 (2nd edn) [Doyle]	1		1	87.95	87.95
P09366	(New Edition for 2021) WA ATAR Accounting 4 (2nd edn) [Doyle] (New Edition for 2021)	2		1	95.95	95.95
	APPLIED INFORMATION TECHNOLOGY GENERAL Resources are provided by SIDE.					
	APPLIED INFORMATION TECHNOLOGY ATAR No Text Required - Resources are provided by SIDE.					
	ASDAN Resources are provided by SIDE.					
	AUTOMOTIVE ENGINEERING AND TECHNOLOGY GENERAL Resources are provided by SIDE.					
P19689	BIOLOGY ATAR WA ATAR Biology 3&4 (Print & Digital) [Skirving et al] (New Edition for 2021) Due approx. December 2020.	3		1	89.95	89.95
P05771	WA ATAR Course Study Guide Biology Year 12 [Walster, Peter]	4		1	54.00	54.00
	BUSINESS MANAGEMENT AND ENTERPRISE GENERAL Resources are provided by SIDE.					
	CAREER & ENTERPRISE FOUNDATION Resources are provided by SIDE.					
	CAREER & ENTERPRISE GENERAL Resources are provided by SIDE.					
	CERTIFICATE II IN BUSINESS Resources are provided by SIDE.					
	CERTIFICATE II APPLIED LANGUAGES - FRENCH This subject is not offered in 2021 at SIDE.					
P01418	CERTIFICATE II APPLIED LANGUAGES - JAPANESE Japanese/English English/Japanese Dictionary (Random) [Seigo Nakao]	5		1	29.99	29.99
	CERTIFICATE II FINANCIAL SERVICES Resources are provided by SIDE.					
	CERTIFICATE II INFORMATION, DIGITAL MEDIA AND TECH The teacher will provide information on the hardware and software required to complete this course.					
	CERT II SKILLS FOR WORK & VOCATIONAL PATHWAYS Resources are provided by SIDE.					

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	CERTIFICATE II SPORT & RECREATION Resources are provided by SIDE.					
P04888 P05772	CHEMISTRY ATAR Nelson AC Chemistry 3&4 (Print & Digital) [Smith et al] WA ATAR Course Study Guide Chemistry Year 12 [Lucarelli et al]	6 7		1	86.95 54.00	86.95 54.00
	CHILDREN, FAMILY AND COMMUNITY GENERAL Resources are provided by SIDE.					
	COMMUNITY ARTS PERFORMANCE Resources are provided by SIDE.					
	COMMUNITY SERVICES Resources are provided by SIDE.					
	COMMUNITY SPORTS PERFORMANCE Resources are provided by SIDE.					
	COMPUTER SCIENCE ATAR Resources are provided by SIDE.					
	DESIGN GENERAL PHOTOGRAPHY Resources are provided by SIDE, however, students will need to have access to a digital camera.					
	DESIGN GENERAL TECHNICAL GRAPHICS Resources are provided by SIDE.					
P04060	ECONOMICS ATAR Creelman Exam Questions Economics ATAR Course 3&4 2021 [Andrew Tibbitt]	8		1	45.00	45.00
P12330	(New Edition for 2021) (Due approx. March) WA ATAR Investigating Macroeconomics 6E (New Edition for 2021) Due approx. January 2021.	9		1	82.00	82.00
	ENGLISH PRELIMINARY Resources are provided by SIDE.					
	ENGLISH FOUNDATION Resources are provided by SIDE.					
P04356	ENGLISH GENERAL Messenger, The (P/B) [Markus Zusak]	10		1	16.99	16.99
P18073	ENGLISH ATAR The White Girl [Tony Birch]	11		1	29.95	29.95
	ENGLISH AS ADDITIONAL LANGUAGE/DIALECT FOUNDATION Resources are provided by SIDE.	١				

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P00263	ENGLISH AS AN ADDITIONAL LANGUAGE/DIALECT ATAR I Am Malala:Girl Who Stood Up for Education & Shot (Phoenix) [Yousafzai & Lamb]	12		1	19.99	19.99
P55151 P55111	Binder Book A4 8mm 64 Page Binder A4 2D Ring PVC 25mm Blue	13 14		1 1	1.10 4.95	1.10 4.95
D==4=4	ENGLISH AS AN ADDITIONAL LANGUAGE/DIALECT GENERAL					
P55151	Binder Book A4 8mm 64 Page	15		2	1.10	2.20
P19441 P17049	FRENCH SECOND LANGUAGE ATAR Collins Robert Concise French Dictionary 10E (H/B) [Collins] Schaum's Outline of French Grammar 7E [Crocker]	16 17		1	59.99 37.95	59.99 37.95
	GEOGRAPHY GENERAL Resources are provided by SIDE.	17		·	07.00	37.33
P11642	GEOGRAPHY ATAR WA ATAR Geography Units 3&4 (2nd edition) [Anna Griffin et al]	18		1	64.95	64.95
P07856	HEALTH STUDIES GENERAL Health Studies - Year 12 General Pathway [Emily Lockhart]	19		1	40.00	40.00
P07123	HEALTH STUDIES ATAR WA Health Studies Year 12 ATAR 2E [Emily Lockhart] (Emily Lockhart)	20		1	70.00	70.00
	HUMAN BIOLOGY GENERAL Resources are provided by SIDE.					
P13290	HUMAN BIOLOGY ATAR WA ATAR Human Perspectives 3&4 (Print & Digital) 8E [Whan et al] (New Edition for 2021) Due approx. December 2020. WA ATAR Course Study Guide Human Biology Year 12 [Sanfelieu]	21		1	82.95 54.00	82.95 54.00
	INDONESIAN SECOND LANGUAGE ATAR Resources are provided by SIDE.	22		·	04.00	34.00
	INTEGRATED SCIENCE GENERAL Resources are provided by SIDE					
P16641 P05556	ITALIAN SECOND LANGUAGE ATAR Collins Italian Dictionary and Grammar 4E [Collins Dictionaries] Schaum's Outline of Italian Grammar 4E [Germano]	23 24		1 1	29.99 40.95	29.99 40.95
P03261 P01418	JAPANESE SECOND LANGUAGE ATAR Wakatta Workbook 2 [Jaffray] Japanese/English English/Japanese Dictionary (Random) [Seigo Nakao]	25 26		1 1	31.95 29.99	31.95 29.99
P06758 P06937 P01104 P00963	LITERATURE ATAR Tempest (Royal Shakespeare Company) [Bate & Rasmussen (Ed.)] That Deadman Dance [Kim Scott] Great Expectations (Penguin Classics) [Dickens] Literary Terms - A Practical Glossary 3E (Chalkface) [Moon]	27 28 29 30		1 1 1 1	20.95 22.95 14.99 42.95	20.95 22.95 14.99 42.95

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATUEMATICO REFUNINARY					
	MATHEMATICS PRELIMINARY					
	Resources are provided by SIDE. A calculator is required.					
	MATHEMATICS FOUNDATION					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	31		1	38.95	38.95
P56414	Ruler 300mm Plastic Clear	32	$\overline{}$	1	0.75	0.75
	A scientific calculator is required.		_			
	Resources are provided by SIDE.					
	MATHEMATICS ESSENTIAL GENERAL					
P13603	Nelson AC Senior Maths Essentials 12 (Print & Digital) 2E [Thomson & Binns] (New Edition for 2021)	33		1	77.95	77.95
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	34		1	38.95	38.95
P56414	Ruler 300mm Plastic Clear	35		1	0.75	0.75
	MATHEMATICS APPLICATIONS ATAR					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	36		1	254.95	254.95
P00713	WA ATAR Maths Applications Unit 3 (Print & Dig)(Rev. format) [Sadler]	37		1	39.95	39.95
P00728	WA ATAR Maths Applications Unit 4 (Print & Dig)(Rev. format) [Sadler]	38		1	39.95	39.95
P05784	WA ATAR Course Study Guide Mathematics Applications Year 12 [Hill] (Academic Associates)	39		1	49.00	49.00
	MATHEMATICS METHODS ATAR					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	40		1	254.95	254.95
P00714	WA ATAR Maths Methods Unit 3 (Print & Dig)(Rev. format) [Sadler]	41		1	39.95	39.95
P00716	WA ATAR Maths Methods Unit 4 (Print & Dig)(Rev. format) [Sadler]	42		1	39.95	39.95
P05798	WA ATAR Course Study Guide Mathematics Methods Year 12 [Hill] (Academic Associates)	43		1	49.00	49.00
	MATHEMATICS SPECIALIST ATAR					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	44		1	254.95	254.95
P00719	WA ATAR Maths Specialist Units3&4 (Print & Dig)(Rev. format) [Sadler]	45		1	72.95	72.95
P05804	WA ATAR Course Study Guide Mathematics Specialist Year 12 [Hine et al] (Academic Associates)	46		1	49.00	49.00
	MEDIA PRODUCTION ANALYSIS ATAR The teacher will provide information on the hardware and software required to complete this course.					
	MODERN HISTORY GENERAL Resources are provided by SIDE.					
	MODERN HISTORY ATAR					
P14236	Contested Spaces - Cold War Modern History (Stg 6) [Briggs]	47		1	65.95	65.95
P06218	Heinemann China 1900 - 1976 [Stewart]	48		1	61.95	61.95
	PHYSICS ATAR					
P13175	Nelson AC Physics 3&4 (Print & Digital) (Revised Ed) [Rose]	49		1	86.95	86.95
P05823	WA ATAR Course Study Guide Physics Year 12 [Lucarelli et al]	50	\equiv	1	54.00	54.00

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PSYCHOLOGY ATAR					
P15516	WA ATAR Psychology: Self & Others 3&4 (Print & Digital) 3E [Fletcher & Garton]	51		1	49.95	49.95
P15533	WA ATAR Psychology: Self & Others 3&4 Workbook (3E) [Fletcher et al]	52		1	32.95	32.95
P55657	Graph Book A4 5mm squares 48 Page	53		1	1.05	1.05
	POLITICS AND LAW ATAR					
P18523	WACE Politics & Law ATAR3&4:Power Accountability & Rights 2E [(Available Term 1)]	54		1	75.00	75.00
	(New Edition for 2021)					
	Due approx. January 2021.					
	RECREATIONAL PURSUITS					
	Resources are provided by SIDE.					
	VISUAL ARTS PRELIMINARY					
P55640	Glue Hobby PVA 250ML	55		1	7.95	7.95
P56115	Marker Artline #210 Black 0.6mm	56		1	3.60	3.60
P50440	Pen Fineliner Stabilo Point 188 Black	57		1	2.55	2.55
P52001	Pencil (2B) Goldfaber	58		1	0.55	0.55
P52014 P55831	Pencil (6B) Goldfaber	59 60		1	0.60	0.60
F 3303 I	Adhesive Tape Masking #2214 24x50 A comprehensive package of art supplies will be dispatched	60		1	5.30	5.30
	to every student. The supplies are intended to last the					
	whole year and must be returned if a student withdraws from					
	the course without using the materials. Students who find					
	they need additional supplies will request these from their					
	teacher.					
	VISUAL ARTS GENERAL					
P55640	Glue Hobby PVA 250ML	61		1	7.95	7.95
P56115	Marker Artline #210 Black 0.6mm	62		1	3.60	3.60
P50440	Pen Fineliner Stabilo Point 188 Black	63	$\overline{}$	1	2.55	2.55
P52001	Pencil (2B) Goldfaber	64	$\overline{}$	1	0.55	0.55
P52014	Pencil (6B) Goldfaber	65		1	0.60	0.60
P55831	Adhesive Tape Masking #2214 24x50	66		1	5.30	5.30
P55747	Knife NT Cutter S202P	67		1	6.45	6.45
	A comprehensive package of art supplies will be dispatched to every student. The supplies are intended to last the					
	whole year and must be returned if a student withdraws from					
	the course without using the materials. Students who find					
	they need additional supplies will request these from their					
	teacher.					
	VISUAL ARTS ATAR					
P55640	Glue Hobby PVA 250ML	68		1	7.95	7.95
P56115	Marker Artline #210 Black 0.6mm	69	$\overline{\Box}$	1	3.60	3.60
P50440	Pen Fineliner Stabilo Point 188 Black	70	$\overline{\Box}$	1	2.55	2.55
P52001	Pencil (2B) Goldfaber	71		1	0.55	0.55
P52014	Pencil (6B) Goldfaber	72		1	0.60	0.60
P55831	Adhesive Tape Masking #2214 24x50	73		1	5.30	5.30
P55747	Knife NT Cutter S202P	74		1	6.45	6.45
	A comprehensive package of art supplies will be dispatched					
	to every student. The supplies are intended to last the					
	whole year and must be returned if a student withdraws from					

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount
	the course without using the materials. Students who find they need additional supplies will request these from their teacher.					
	WORKPLACE LEARNING					
	Resources are provided by SIDE.					
	GENERAL STATIONERY All courses					
	Computer consumables					
P58510	Eraser Plastic Pencil Large With Sleeve	75		1	0.40	0.40
P56098	Pen Ballpoint Bic Cristal Blue	76		2	0.60	1.20
P56414	Ruler 300mm Plastic Clear	77		1	0.75	0.75
P52001	Pencil (2B) Goldfaber	78		2	0.55	1.10
P56101	Pen Ballpoint Bic Cristal Red	79		2	0.60	1.20
P50440	Pen Fineliner Stabilo Point 188 Black	80		2	2.55	5.10
P50186	Highlighter Marker - Yellow	81		2	1.55	3.10
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	82		2	13.95	27.90
	Files (one per course)					
P55097	Lever Arch File A4 Board	83		1	4.95	4.95
P65021	Document Wallet Polydoc Foolscap Clear	84		4	2.35	9.40
P50046	Lecture Pad A4 7mm 70 Leaf	85		2	2.95	5.90
	Papers and dividers (1 set per course)		_			
P55709	Index Dividers A4 5 Tab (Board)	86		4	1.05	4.20
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	87		2	3.50	7.00
P55442	Display Book A4 20 Pocket Black Refillable	88		4	2.00	8.00
P56428	Safety Glasses Norton Clear Wrap Around	89		1	6.35	6.35
	This item is compulsory for doing Science Labs if you are		_			
	studying a Science course through SIDE.					
	Number of Boxes ticked:					
	Delivery, packaging & handling		\$8.00			
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 25/09/20)		\$			
	☐ Yes, please email me with information on current Year 11 and	12 Stud	dy Guides.			